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1. ( ) EEBBMHA THBITHORI MR REHKR, RITFITHHERRSB?

(a) @=0.001 £4=0.1(b) a=0.0128=0.05(c) a=0.052 8=0.01 (d)a=0.1 B.£=0.001 (e)
a=0.05 B 8=0.05 S '

2. ( ) FBRBBRHAH "AHLOKEANTREET, RI!'F%H‘I%‘%:%#&AE'P (a)
a=0,001 28=0.1 (b) a=0.01 B8=0.05(c) a-=0. 058 8= 001 (d) a 0 lﬁ.ﬁ =0, 001 (e)

a=0.05 8 £=0.05

3.( ) THAERE ? (a)FFHEP(ANB)>P(B) (b) %BcAﬁ'JP(AﬁB) P(B) (C)§

ANB=¢RIP(ANB)=P(B) (d) P(AnB)<P(B) (e)LAlL®&FE- o

4.( ) If the mean of anormal distribution is negative, then (a) the‘S’t'a}r;da'rd deviation
must also be negatlve (b)'the variance must also be negatlve (c) a mistake has been made
in the computations, because the mean of a normal distribution can not be negatlve (d)
the standard deviation must be zero (e) None of these answers is correct '

5. ( ) In a regression analysis if # =1, then (a) SSE must also be equai to one - (b)

SSE must be equal to zero (c) SSE can be any positive value (d) SSE must be negative (e)
None of these answers is correct.

® 37 M (4 points each)
Exhibit 1

A regression analysis resuited in the following information regardmg a dependent vanable o) and an

independent variable (x). n=10 Ix=55 3Iy=55 Ix’=385 Ey =385 ny 220..
Refer to Exhibit 1. The least squares estimate of the slope b; equals ,
Refer to Exhibit 1. The least squares estimate of the intercept by equals

Refer to Exhibit 1. The point estimate of y when x =20 is

Refer to Exhibit 1. The sample correlation coefficient equals

Refer to Exhibit 1. The coefficient of determination equals

e

® HHEM (4 points each answer except for exhibit 2)

1. You are given the following information on Events A, B, C, and D. ' P(A)=4 . PAUD)=.6 PB)=.2
P(A |B) =3 PCO)=.1 PANC)=.04 P(AnD)=.03 '
(a). Compute P(A N B).
(b). Compute P(D).
(c). Compute the probability of the complement of C.
(d). Are A and C mutually exclusive?
(e). Are A and C independent? .

2. A local university reports that 20% of their students take their general education courses on a long
-distance learning basis. Assume that five students of the local university are reg'istefed for a general
education course. , o :

(a). What is the expected number of students who have registered for a general education course on a
long -distance learning basis? v, ’ |

(b). What is the probability that less than two students are registered for a general education course on a
long -distance learning basis?
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5. Assume the miles-per-gallon of the model Q cars is distributed with a mean of 22 miles-per-galion and a standard
deviation of 12 miles- per-galion. 36 model Q cars are sampled. ‘ »
(a). What is the probability that mean miles-per-gallon of the 36 cars will get less than 21 miles-ﬁer-gallon?
(b). What is the probability that mean miles-per-gallon of the 36 cars will get exactly 22 mean miles-per-gallon?

Exhibit 2 (2 points each answer)
The table below gives beverage preferences for random samples of teens and adults.

|- Total
Coffee 50 200 250
Tea 100 150 250
Soft Drink | 200 200 400
Other 50 50 100
400 600 | 1,000

We are asked to test for independence between ages (i.e., adult and teen) and drink preferences.
(a). Refer to Exhibit2. Witha .05 level of significance, what is the critical value for the test 7
(b). Refer to Exhibit 2. What is the expected number of adults who prefer coffee ?
(c). Refer to Exhibit 2. What is the calculated value of this test for independence ?
(d). Refer to Exhibit 2. What is the result of this test ?
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